
FORM FIT HOOD PROTECTOR 
Chevrolet Silverado 2003-2005 HDW 5D 03 
Chevrolet Silverado Heavy Duty 2003-2004 
Chevrolet Avalanche without Cladding 2002-2006 

Thank you for purchasing a form fit hood protector.  
Care Instructions 
 Clean the protector with a mild soap and water solution or plastic cleaner only. 
 Periodically check to make sure all the hardware is in place and the protector is secure. 

#2 #2 

Attention!  
Do not use chemicals or solvents. Avoid using automatic car washes. Do not pull on the 
protector when opening or closing the hood. 

Hardware Kit  
 
 
 
 

Tools Required     
       

 
 Installation Instruction 

 

 

 

 

 

 

 

 

 
 
Illustration #1: Hardware Assembly         

                       

 

  
 
 
 

   

 

FORM FIT HOOD PROTECTOR 
Chevrolet Silverado 2003-2005 HDW 5D 03 
Chevrolet Silverado Heavy Duty 2003-2004 
Chevrolet Avalanche without Cladding 2002-2006 

Thank you for purchasing a form fit hood protector.  
Care Instructions 
 Clean the protector with a mild soap and water solution or plastic cleaner only. 
 Periodically check to make sure all the hardware is in place and the protector is secure. 

Attention!  
Do not use chemicals or solvents. Avoid using automatic car washes. Do not pull on the 
protector when opening or closing the hood. 

Hardware Kit  
 
 
 
 

Tools Required     
       

 
 Installation Instruction 

 

 

 

 

 

 

 

 

 
 
Illustration #1: Hardware Assembly         

                         
 
 
 
  
 
 
 

  
 
 
 

   

 

x 5 

Made in Canada                                                                                             Rev2.060804

1. Open the hood. Be sure that the hood is clean and dry inside and out. 
2. Center the protector on the hood to familiarize yourself with the mounting holes 

locations. 
3. Set the protector aside. Press the expansion plugs into the holes determined in step 2. 
4. Re-place the protector on the hood with the expansion plugs centered in the mounting 

holes. 
5. Assemble the washers onto the screws (rubber side toward protector) and insert the 

screws through the protector into the expansion plugs. Adjust the protector for best fit 
then, tighten the screws into the expansion plugs (do not over tighten). See Illustration 
#1. 

Note: Do not pull on the protector when opening or closing the hood.                              

# 10 x 5/8’’ Screws x 5 x 5 

Hood 

Expansion Plug 

Protector 

Washer 

Screw 

Made in Canada                                                                                             Rev2.060804 

x 5 

1. Open the hood. Be sure that the hood is clean and dry inside and out. 
2. Center the protector on the hood to familiarize yourself with the mounting holes 

locations. 
3. Set the protector aside. Press the expansion plugs into the holes determined in step 2. 
4. Re-place the protector on the hood with the expansion plugs centered in the mounting 

holes. 
5. Assemble the washers onto the screws (rubber side toward protector) and insert the 

screws through the protector into the expansion plugs. Adjust the protector for best fit 
then, tighten the screws into the expansion plugs (do not over tighten). See Illustration 
#1. 

Note: Do not pull on the protector when opening or closing the hood.                                 

# 10 x 5/8’’ Screws x 5 x 5 

Hood 

Expansion Plug 

Protector 

Washer 

Screw 



FORM FIT Protecteur de capot 
Chevrolet Silverado 2003-2005 HDW 5D 03 
Chevrolet Silverado Heavy Duty 2003-2004 
Chevrolet Avalanche without Cladding 2002-2006 

#2 #2 

Merci de vous êtes procuré un protecteur de capot  form fit. 

Instruction pour l’entretien 
 Nettoyer le protecteur avec une solution faite  d’eau et de savon doux ou avec un 

nettoyant de plastique seulement. 
 S’assurer périodiquement que tous les fixations sont toujours en place et que le 

protecteur est toujours bien retenu. 

Attention!  
Ne pas utiliser de produits chimiques ou de dissolvants. Éviter de laver le véhicule dans un 
lave-auto automatique. Ne pas tirer sur le protecteur pour ouvrir ou fermer le capot. 

Sachet de fixation 
 
 
 
 

Outils nécessaires     
        

 
 Instruction d’assemblage 

 

 

 

 

 

 

 

 
 
 

Illustration #1 : Assemblage        
                       

 

  
 

 

FORM FIT Protecteur de capot 
Chevrolet Silverado 2003-2005 HDW 5D 03 
Chevrolet Silverado Heavy Duty 2003-2004 
Chevrolet Avalanche without Cladding 2002-2006 

Merci de vous êtes procuré un protecteur de capot  form fit. 

Instruction pour l’entretien 
 Nettoyer le protecteur avec une solution faite  d’eau et de savon doux ou avec un 

nettoyant de plastique seulement. 
 S’assurer périodiquement que tous les fixations sont toujours en place et que le 

protecteur est toujours bien retenu. 

Attention!  
Ne pas utiliser de produits chimiques ou de dissolvants. Éviter de laver le véhicule dans un 
lave-auto automatique. Ne pas tirer sur le protecteur pour ouvrir ou fermer le capot. 

Sachet de fixation 
 
 
 
 

Outils nécessaires     
        

 
 Instruction d’assemblage 

 

 

 

 

 

 

 

 
 
 

Illustration #1 : Assemblage        
                         

 
 
 
  
 
 
 

  
 

 

x 5 

Fabriqué au Canada                                                                                       Rev2.060804

1. Ouvrir le capot. S’assurer que le capot est propre et sec à l’intérieur comme à l’extérieur. 
2. Positionner le protecteur sur le capot pour vous familiarise avec les trous de montage. 
3. Mettre le protecteur de côté. Pousser les bouchons expansibles dans les trous 

déterminés à l’étape 2. 
4. Replacer le protecteur sur le capot avec les bouchons expansibles centrés avec les 

trous. 
5. Assembler les rondelles avec les vis (côté en caoutchouc vers le protecteur) et insérer 

les vis au travers du protecteur. Ajuster le protecteur pour une meilleure installation. 
Serrer les vis dans les bouchons expansibles (ne pas trop serrer). Voir l’illustration n°1. 

Important: Ne jamais se servir du protecteur pour ouvrir ou fermer le capot. 

Vis (n° 10 x 5/8 po.) x 5 x 5 

Capot 

Bouchon expansible 

Protecteur 

Rondelle 

Vis 

x 5 Vis (n° 10 x 5/8 po.) x 5 x 5 x 5 

1. Ouvrir le capot. S’assurer que le capot est propre et sec à l’intérieur comme à l’extérieur. 
2. Positionner le protecteur sur le capot pour vous familiarise avec les trous de montage. 
3. Mettre le protecteur de côté. Pousser les bouchons expansibles dans les trous 

déterminés à l’étape 2. 
4. Replacer le protecteur sur le capot avec les bouchons expansibles centrés avec les 

trous. 
5. Assembler les rondelles avec les vis (côté en caoutchouc vers le protecteur) et insérer 

les vis au travers du protecteur. Ajuster le protecteur pour une meilleure installation. 
Serrer les vis dans les bouchons expansibles (ne pas trop serrer). Voir l’illustration n°1. 

Important: Ne jamais se servir du protecteur pour ouvrir ou fermer le capot. 

Vis (n° 10 x 5/8 po.) x 5 x 5 

Capot 

Bouchon expansible 

Protecteur 

Rondelle 

Vis 

Fabriqué au Canada                                                                                       Rev2.060804 


	FORM FIT HOOD PROTECTOR
	Chevrolet Silverado 2003-2005 HDW 5D 03
	Chevrolet Silverado Heavy Duty 2003-2004
	Chevrolet Avalanche without Cladding 2002-2006
	Care Instructions


	FORM FIT HOOD PROTECTOR
	Chevrolet Silverado 2003-2005 HDW 5D 03
	Chevrolet Silverado Heavy Duty 2003-2004
	Chevrolet Avalanche without Cladding 2002-2006
	Care Instructions


	FORM FIT Protecteur de capot
	Chevrolet Silverado 2003-2005 HDW 5D 03
	Chevrolet Silverado Heavy Duty 2003-2004
	Chevrolet Avalanche without Cladding 2002-2006
	Instruction pour l’entretien


	FORM FIT Protecteur de capot
	Chevrolet Silverado 2003-2005 HDW 5D 03
	Chevrolet Silverado Heavy Duty 2003-2004
	Chevrolet Avalanche without Cladding 2002-2006
	Instruction pour l’entretien



